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4.00(2.30| 6.30[21.14] 13.3| 0.510| 0.499 [2.16%| 0.343 [32.7%
6.00/2.30| 8.30121.14| 15.3 | 0.530| 0.520 |1.92%|0.390 [26.4%
8.00[2.30110.30(21.14| 17.3 | 0.560| 0.560 0%| 0.439 [21.6%
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%ml Bm, my+m, ! 2 : Ei(8)
) 4.69 |0.6550.655[0.655/0.655| 3.21 0.34
5 |0.69 | 5.69 [0.695/0.695[0.700[0.695] 3.20| 9.57/0.33l0.33
6 6.69 |0.7250.7300.730]0.730] 3.12 0.33
7 7.69 |0.760[0.760[0.760{0.760| 2.94 0.31
b HEEEBE()6.36 (V) 6.42(8) AU B 12.78 (8)
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Bm, W my |my+m,| ! 2 3 Hi(g)
3 3.60  |0.770[0.765]0.775|0.77 | 4.49 0.35
4 | 0.69 | 4.69 [0.810[0.805/0.805[0.818 | 4.54|12.78] 0.35[0.34
5 5.69 |0.850/0.850(0.850[0.850 | 4.28 0.33
7 7.69  [0.920[0.925/0.920{0.922 | 4.03 0.32
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5 5.69 0.77510.77510.7750.775| 3.95 0.35
6 0.69 6.69 0.805(0.810/0.815/0.810 | 3.87 |11.18]0.35{0.34
7 7.69 0.84010.840(0.840[{0.840 | 3.67 0.33
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2 0.54] 2.54 }1.125|1.12041.125|1.122|3.25{9.57|0.34 {0.33
3 3.54 1.200{1.200f1.200{1.200 | 3.08 0.32
4 4.54 [1.280{1.280}1.280{1.280{3.00 0.31
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1 1.54 1.330/1.335{1.330(1.332| 4.57 0.36
2 10.54] 2.54 1.4251.430|1.420{1.425| 4.46 {12.7810.35 |0.34
3 3.54 1.515[1.520{1.515{1.517 | 4.39 0.34
4 4.54 1.585]1.585}1.585{1.585|4.12 0.32
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® | 8 |Mm= r lr, |7 (sec) |25 | #(8)
my | mg Wy +m, Hi(g)
1 1.54 1.19011.190]1.190{1.190}4.04 0.36
2 0.54] 2.54 1.280]1.285|1.28011.280(3.92111.1810.35/0.34
3 3.54 1.355{1.360{1.360(1.358 | 3.73 0.33
4 4.54 1.44511.445]1.445|1.445 | 3.69 0.33

09 ER I ~ AR A

(1) Fiy F T 1 T 80 T A A 2 o 2 B — B 5 — 0 25T 0. 33
L BRI R A0 B A SR 18 A o

(2) 75 458 D 988 O 0 JBORED SRk (TR 5 1 B BRLAG T > (FL2 bl EE R
R A I 0 BTN R R B RIS [ M T
T F B 5 B[l 5 BN AT B T 9T 17F 2 P B JE LA 5 —
WA T AR o BTOIEE [T Al B —iR o 88 5 e Bt
B 5 SRS 1T 5 HE B B IR A 5 T - S RAE
£ R (IR S B AR EAR ) ) Mo/ 2 e b SIS S 0 08
REL S BB ST S5 AT A o

()2 ERAY BB R B » M TR I RIS 2 CERX o
i BRI R B R O O A o AR AR o AT AR BRI EEIZ )
BPER o IR TF = kx » RAEBEGZ0EH » FRE/ > T
PR o BEERTT = 214/ (m +CM )]k b s REE
fy kBB TR DUR B k@R B DL C btk
s PRI PIBEBE 3 iR RE 2 o

t i W

A B B 1S RS T Rl ey B E A R R B R 0. 33 f5 BT

B C=0.33 » FAMBIE IV V 248 BhE 01 - B 7S 2 B i

» MRS o BT DURTE R (/8 Tie & fhEE) » R E a2
-.____8 —e




BRI IE A KR

.33M
T:2ﬁﬂ+0l{33

V& BE 78 T M T B TR R TR A8 > R R A &y LB R R

HIBL 8 > 45 RMHIVEA BRIE U6 IR SE R A S o — 5T KAV B bt
78 o



